Example Results of Habitat Risk Assessment
HRA model can produce the following outputs:
1. Reclass Risk of Habitat
· This raster layer depicts the reclassified habitat-specific risk from all the stressors in a grid cell into four categories, where 0 = No Risk, 1 = Low Risk, 2 = Medium Risk, and 3 = High Risk. 
· Cells are classified as high risk if they have cumulative risk scores of 66%-100% of the total possible cumulative risk score. Cells are classified as medium risk if they have cumulative risk scores between 33%-66% of the total possible cumulative risk score. Cells are classified as low risk if they have cumulative risk scores of 0-33% of the total possible risk score for a single stressor or multiple stressors, respectively. 
· If there’s no stressor on a habitat cell, it is classified as no risk.
2. Total Risk of Habitat
· This raster layer depicts the habitat-specific cumulative risk from all the stressors in a grid cell. For example, “TOTAL_RISK_mangrove” depicts the cumulative risk from all stressors on habitat “mangrove”. 
· It is calculated on a cell-by-cell basis, where risk is calculated only where the habitat or species occurs and varies spatially based on the distribution (and scores) of stressors that affect that habitat or species (see Cumulative Risk to Habitats or Species from Multiple Stressors). 
· This layer is informative for users who want to know how cumulative risk for a given habitat varies across a study region (e.g. identify hotspots where eelgrass or kelp is at high risk from multiple stressors). 
· Hotspots of high cumulative risk may be targeted for restoration or monitoring.
3. Reclass Risk of Ecosystem
· This raster layer depicts the reclassified ecosystem risk in each cell. It is best interpreted as a reclassified average index of risk across all habitats in a grid cell. The reclassification technique is similar to the one described above.

4. Total Risk of Ecosystem
· This raster layer depicts the sum of habitat cumulative risk scores divided by the number of habitats occurring in each cell. It is best interpreted as an average risk across all habitats in a grid cell. For example, in a near shore grid cell that contains some coral reef, mangrove and soft bottom habitat, the ecosystem risk value reflects the sum of risk to all three habitats in the cell.
Results Case 
1. Reclass Risk of Habitat (Coral Reef)
Results indicates some area areas in high risk (red) and some area are in medium risk (blue)
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2. Total Risk of Habitat (Coral Reef)
Result indicates all areas in High risk (red)
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3. Reclass Risk of Ecosystem
Result indicated that some areas are in low risk (green) and medium risk (blue)
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4. Total Risk of Ecosystem
Result indicated that all areas are in medium risk (blue)
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Question:
1. [bookmark: _GoBack]Why the results of "reclass of habitat (coral reef)" and "total of habitat (coral reef)" have more high risk areas compared to "reclass of ecosystem" and "total of ecosystem"? The result from coral reef can give medium and high risk to the ecosystem. Then it should be more worse to the ecosystem because there were also other results from “reclass seagrass” ; “total seagrass” ; “reclass mangrove “ ; “total mangrove” that I did not attach here.
2. What do you think of my result? 

THANK YOU SO MUCH
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